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Highlight the reason why the term ‘development’ is considered difficult to define and
explain how the concept can be understood.

Differentiate between women’s workshops, artisan’s work and cottage industries as
characteristics of manufacturing in pre-industrial society

How does Rostow (1964) explain the process.through which Third World countries can
industrialize?

Provide a detailed explanation of the difference between a ‘developmental state’ and a
‘predatory state’.

What features of East Asian countries explain why Japan and the Four Little Dragons
were able to industrialize in the 20™ century, while other countries were unable to do
so?

Provide an explanation for the problem of de-industrialization and, making reference to
Cole’s (2009) assessment of the problem of rural de-industrialization in the United
States, highlight at least three consequences of de-industrialization.



